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BA:
newAx = sgaplot(ValueSet, Label, saveFlag)
newAx = sgaplot(ValueSet, Label, saveFlag, ax)
newAx = sgaplot(ValueSet, Label, saveFlag, ax, gen)
newAx = sgaplot(ValueSet, Label, saveFlag, ax, gen, interval)
newAx = sgaplot(ValueSet, Label, saveFlag, ax, gen, interval, title)

newAx = sgaplot(ValueSet, Label, saveFlag, ax, gen, interval, title, save path)

TELIEER:

ValueSet #& —> numpy [ array K FIF M &, —MfE N kBT 2 il sk 28
pop_trace HIFE—FIHHR . H PR X Label i€

Label & — 7R, ARHIREEE ValueSet 175 X

saveFlag & /R B HIbRIE, K2 B ERFE . MBSz, SR
False.

ax Je LS H, FEL 2 i) x 7 A N HARKR E—milf3hm . 22 i 28—
iy, HAE N Nones

gen SE [ IESH, FRIRUATHLAELL, BRI None. 1ZZ803% A 544 8N 9E None
(NP s N RN S

interval J& F]E S0, R 2 (8 [ BRI TE, BRI 0.1, A8 #27,

title & WIEZHL, FREITERIRE AR

save_path 72 string RKE LS4, RRRAFE T FIEEL.

newAx fREHHIETE, & TG ax.
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ax = None # Ffig b — Wil F
# JHae
for gen in range(MAXGEN)

# HEE

# 10T A
bestIdx = np.max(FitnV)
pop_trace[gen,1] = 0bjV[bestIdx] # 1T UK H A& H 480 &4 E

# %
ax = ga.sgaplot(pop_tracel:, [1]], "' & b Mk H AT B2 E ",
False, ax, gen)

# LR

ga.sgaplot (pop_trace[:, [1]1], ' M & M ME B R #E ",

True) # % |l & &M R w0 E

# end
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